PBUYEH UMUPKYNAP | GKS 235 Turbo | 3 601 EA2 001 4

U3ob6paxxeHue - mogen - E

3601 EA2 000

bl S s S g (Abb. 1

Anzugsmomente
Torgue values
Couple de serrage
Pares de apriete
Pos
19 = 1,0+1,5Nm
52 = 6,0£9,0Nm
74 = 2,0%24Nm
87 = 1,3141,8Nm
88 = 28%32Nm
= 1,5+20Nm
= 1,6+2,0Nm
= 3,0+40Nm
= 3,0+38Nm
= 20%24Nm

Anderungen vorbehalten
Maodifications reserved
Maodifications reservees
Salvo medificaciones




PBUEH UMUPKYNAP | GKS 235 Turbo | 3 601 EA2 001 2

CnUCbK Ha pe3epBHUTE UaCTH

ApTukyn KatanoxxeH OnucaHue U3obpaxkeHune
HOMeEp
1 1619P10219 KOPMYC HA MOTOP
2 1619 P08 335 CTATOP 230V
4 1607 200 286 MYCKOB KoY
5 1619 P02325 3AXPAHBALL KABEN EU 2,65m 2 x 1,00mm
HO5 VV-F
6 2600703012 HAKPAMHMK 3A KABES 26,5-36,9x95 MM
7 1619 P01 104 ObPXAU HA KABEN
12 1619 P01 137 ®OUNTBHP NPOTUB CMYLLEHKA
13 2610017 348 CAUMEH NATEP
14 1619 P06 095 CAUMEH JATEP
19 2603490021 TORX-BUHT 4x12
22 1619P10224 MNACTUHA
23 1618 B0O 802 3ATBAPALL KAMAK
24 1619 P10 220 CET OPBXKA
26 1600 206 030 TYMEH NPbCTEH
32 1619 P01 156 LWANTEP-BYTOH
33 2610935251 NMPUTUCKALLA MPYXXUHA
34 1619 P01 637 PA3TOBAPBAHE HA OMbBAHETO
38 1619 P01 620 BO[ELL OTPAHUUMTETN
39 1619 P01 642 MPUTUCKALLA MPYXKMHA
40 1619 P10 226 TYMEHA LLATIKA
46 1619 P01 623 BAN
47 1900 905 279 CAUMEH JATEP 15x35x11
48 1900 905 173 CAUMEH NATEP 6000-2RS DIN 625
49 1619 P10 221 3bBHO KOMENO
50 1619 P01 153 LIAMBA
51 1619 P01 626 LAMBA
52 1619 P01 634 BONT 3A 3ATArAHE
53 1619 P01628 NATEPEH ®NAHEL]
54 1619 P01 629 KOMYTATOP
58 1600 A00 XZ2 MEHOEN-MPEOMNA3WUTEN
59 1619 P01 631 XEBEN
60 1619 P01 632 OBTArALLA MPY>KMHA
61 1619 P01633 3ALLMTHA MNACTUHA
62 1619 P02 580 OUCTAHLIMOHHA BTYNKA



PBUEH UMUPKYNAP | GKS 235 Turbo | 3 601 EA2 001 3

CnUCbK Ha pe3epBHUTE UaCTH

ApTukyn KatanoxxeH OnucaHue U3obpaxkeHune
HOMep
63 1619 P01 635 BTY/IKA C ®NAHEL,
64 1619 P10 650 LUAMBA
65 1619 P06 522 BONT C PE3BA
66 1619 P10222 NPEOMNA3HA OBNULIOBKA
67 2917780 185 LLUM®DT 3A HATATAHE DIN 7346-8x45
69 1619 P10 227 OCHOBEH MNOT
71 1619 P10 230 OFPAHWUUTEN 3A JOM.
72 1619 P10228 BMHKEN
73 1619 P10 229 LUAPHWP
74 2610923224 BUHT
75 2915061 003 TAMKA DIN 985-M 5-8-A
76 1619 P01 636 CKOBA
78 2910281 201 BUHT DIN 603-M6x20
79 1619 P01 668 PETYIUPALL NOCT
80 1600 A00 Z5N LLLAHTA
81 2916021013 NMOO/TOXHA LUAVBA 8-ST
84 1619 P01 618 BMHT C MEPUATKA YEPHO
87 2603490 022 BUHT 4x16
88 2610925864 BUHT
90 1619 P04 540 BUHT YEPHO
91 1619 P01677 BUHT M5x10-H
92 1619 P01678 BUHT
93 1619 P01 679 BUHT
94 1619 P01 680 BUHT M6x20-H
95 1619 P01 673 BUHT
653 2610364015 LUECTOrPAM 5 MM
660 1619 X01 612 NUHEAN
803 1619 P10475 KOMMMNEKT KOTBA 230V
808 1619 P13 082 TABENKA
810 1619 P10476 UETKM-KOMIEKT
816 1604 336 048 YETKOOBPXAY



